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Test Your Skill 

1.  

  (a) 8 cm and 
1
6
3

cm respectively  

 (b) 8 cm and 
1
5
3

  cm respectively  

 (c) 6 cm and 
1
6
3

 cm respectively. (d) None of the above   

”

 (a) 2 2  cm (b) 3 2 cm  (c) 2 3  cm  (d) 4 2 cm  

ACD AD AC  C 2 E,  AB CD h

 

(i) ABCD

(ii) ADE

 (a) I>II (b) I<II (c) I=II  (d) Nothing can be said  

A,B,C D AD 24, BC 12, CBE  ADE

 
 (a) 1:4 (b) 1:2  (c) 1:3  (d) Insufficient data  

5.   2:1  

(a) 3 (b) 5 (c) 6 (d) 12  (e) None these  

AC AB 5AD  AC AD 8,  ABCD

 
 (a) 36 (b) 50 (c) 60  (d) cannot be answered  

AB||QR, PB

  
 (a) 3 cm (b) 2 cm   (c) 4 cm  (d) 6 cm  

 (a) 13.8 cm (b) 13.29 cm (c) 13.2 cm (d) 12.19 cm  
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 (a) 3 :1  (b) 2 :1   (c) 3:1  (d) 2:1  

ABC A BC D AB 4,AC 3  060 ,AD 

 (a) 2 3  (b) 
12 3

7
 (c) 

3
15

8
  (d) 

3
6

7
 

  
 (a) 768  (b) 534  

 (c) 696.5  (d) 684   

ABCD BCE DEC

 
 (a) 15º (b) 30º  (c) 20º  (d) 45º  

AG 9,AB 12,AH 6,HC  

 
 (a) 18                (b) 12                 (c) 16                 (d) 6  

14. 2P A

 

 (a) P/A (b) A/P (c) 2A/P (d) A/2P   

AB||CD, BAE 45 , DCE 50     CEO X, x 

 
 (a) 85º          (b) 95º            (c) 60º          (d) 20º 

ABCD BCD 120 ,m (arcDZC) 70 ,   DAB CXB)

 
 (a) 60º, 70º (b) 60º, 40º (c) 60º, 50º (d) 60º, 60º 
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NT / AB 9 / 5 MB 10, MN

  

 
 (a) 5           (b) 4            (c) 28                (d) 18  

18. 5 / 6  

 (a) octagon (b) hexagon (c) dodecagon (d) decagon 

,AB 8, BC 7, ABC 120 AC    

 
 (a) 2:3 (b) 3:2 (c) 3:4 (d) data insufficient.  

EDC 40 , DCA 40 ,     x,y z

 
 (a) 20º, 27º, 86º  (b) 40º, 54º, 86º  

 (c) 20º, 27º, 43º  (d) 40º, 54º, 43º 
”

 (a)  4 9-  Sq. cm. (b)  9 4-  Sq. cm. 

 (c)  5 6-  Sq. cm. (d)  6 5-  Sq. cm.- 

2

 (a) 3 cm.  (b) 5 cm.   (c) 7 cm. (d) 9 cm. 

1/4

 (a) 64 : 1 (b) 1 :64  (c) 60 :7 (d) 7 :60 

 (a)  : 6 (b) 6 :   (c) 3:   (d)  :3 

 (a) 2 :    (b) 1 : 1 (c)  :2 (d)  :2 

 =22/7

 (a) 462 sq.cm (b) 539 sq.cm (c) 616 sq.cm (d) 693 sq.cm  

× ”  =22/7
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 (a) 4400 3cm  (b) 15400 3cm (c) 35000 3cm (d) 144 3cm  

 (a) 3:  6 :1   (b) 3 : 4 : 1 (c) 3 : 2 : 1  (d) 4 : 3 : 1 

 (a) 12   (b) 16  (c) 24  (d) 48 

”

 (a) 20 %  (b) 40 % (c) 60 %  (d) 72.8 %  

%

 (a) 50 %  (b) 125 % (c) 100 %  (d) 250 %  

%

(a) 16.64 %  (b) 6.64 % (c) 16 %  (d) 16.46 %  

% ”

 (a) 40  (b) 60  (c) 80  (d) 96 

PQR O r 90PQR  3PQ  4QR 

r
(a) (b) (c) (d)

ABCD A D B C

12BC  AD

(a) (b) (c) (d)


